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oI 2l X = Bt 600,589 587,909 12,680
DEMH =g 600,589 587,909 12,680
EXNEANLSLIA(FUIALSESIH) 600,589 587,909 12,680
=XE el 575,589 571,909 3,680
201 et Y| 100,000 98,320 1,680
02 222 12,600 10,920 1,680
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23X 200,0008 * 122 2,400 720 1,680
305 BH& 2 S 1,000 2,000 A 1,000
01 a2 S 1,000 2,000 A1,000
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405 XtarE S| 3,000 0 3,000
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OFxzeld )4 "I Py 3,000 0 3,000
TEEMNE FH 25,000 10,000 15,000
401 A& HI L R OH bl 25,000 10,000 15,000
01 Al H 25,000 10,000 15,000
OFxtzeld X4 &x 15,000 0 15,000
ofl Bl Bl 0 6,000 26,000
801 0ilHl 0 6,000 26,000
01 ekof bl 0 6,000 26,000
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